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1 Wwﬁmmm

A VNN

C
(1) 021 2) 022 (3) 0.24 (4) 0.25

Write correct number in the space of questlon mark.

03 0.7 02 0.4 02 0.3 0. 3

(1) 0.21 ) 0.22 (3) 024 (4) 0.25

2. 31'{+T€UI@I+,xW—,—Wx&TﬁT+W+,H’(39+13—11x12+3%ﬁ%rlﬁ
fereht ?

O)l
Q-
o

(1) 18 (2) 16 (3) 24 (4) 46

If + means +, x means —, — means x and + means +, then what is the value of
39+13-11x12+37

(1) 18 (2) 16 (3) 24 (4) 46

3. 3T T SMAETROr G TRUTEN ATEUS &1 HIgA S gorft wuet fam A . S
7T & AT S 378, 9 Hhe T |fedr I A w7
(1) sfeor - sfgor
(2) 31 - gerh
(3) gewft - 3
(4) Il - @
Amar told his cousin sister Savita that Sairaj is the grandson of my grandmother’s
daughter Kamal. Amar’s aunt is Sairaj’s grandmother. So what is Kamal and Savita’s
relationship ?
(1) Sister — Sister
(2) Mother — Daughter

(3) Daughter — Mother
(4) Grandmother — Granddaughter

Heedl HHETES! SR / SPACE FOR ROUGH WORK P.T.O.
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4. fectew faummardt sam qurEr 9 9 gaty e,
Te e gUN 378
A :
. @& gUR WHE 3R
Il. @& 9me qHe TR,
lIl. <Ter FTHUR §IR AR,
IV. el o gaR 3.
(1) q8H | (2) FAqEE 1
(3) A= I (4) JATHE IV
Check the conjecture for the following statements and select correct option.
Statement : All humans are tigers.
All humans are clever.

Conjecture :
I. All clevers are humans.
Il. All tigers are humans.
lll. Those who are not tigers are not clever.
IV. Some tigers are clever.
(1) Conjecture | (2) Conjecture |
(3) Conjecture llI (4) Conjecture IV

5. I ofiy aufa weart 17 dR@e qien Sefiad IR, @ o afe=d ure ER e
e e,
(1) fafs=a
(2) 7991
(3) 127Uy 11
(4) 366 1A 48

Next leap year my birth day is on 17" Tuesday. Select the chances that the month it
is in has five Sundays.

(1) Definite

(2) 1in7

(3) 11in12

(4) 48in 366

TS HWTHTS! AN / SPACE FOR ROUGH WORK
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S 46 Frareaten A, 18 geale S, 17 Brive Yot ST 6 Godler G S,
6 el 2R et S 4 Fe W R, W et W . W e
0 A IRA T HATE e W Qe TE. B SR @ qear sfaffee

H ?

(4)

29

In a class of 46 students, 18 played football, 17 played cricket including 6 who played
football. 16 students played Hockey including 4 who played cricket, but not football. Five
students played carom but no other games. Which of the following figures represent

these facts ?
(3) C@

(4)

29

THeSHl HETETS! AN / SPACE FOR ROUGH WORK P.T.O.
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7. WIeliel IqSiei@ a qerl T Hlessqeeh ATH HT ST fetean Yo 3T .

HITRTH TR §=AT = 1500.

T famTTdiel go s @ e
fervmrefter wepor TS SreRer T
feram g5y Jishea
LUEISEIERIES 35
KRS 80
qHE TE1EA 20
ferqur 40
faam 50
S e 60
v fawmae) gata St St ST e 3 7
(1) wfacht dafagm (2) fawm
(8) i fawm (4) faao

Study the following pie-chart and table carefully and answer the question.

Total No. of employees = 1500.

Percentage of men in each department to total

number of employees in that each department.
Accounts| Information Department Percentage of men
Technology
20% Information 35
Technology
Production Proclzlqlugtlon 28
Marketing ;
23% Marketing 40
Distribution 50
Accounts 60

Which department has the highest number of women employees ?

(1) Information Technology (IT) (2) Marketing
(3) Accounts (4) Distribution

FHeedl HIHTETS! SR / SPACE FOR ROUGH WORK
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8. mmAﬁwwwwmﬂm2ﬁ.wmﬁ.Wﬁmwaaﬁm
4 Y. <TeT ST, ST ST o ded d 2 1. S, ot STe s desd Jfor 2 .
aTera T 3T fiig C W aied. S dn fig C o IS 4 Hi. = 9, 7t fag A
argd ferdt T a8 ?

(1) 4. (2) 2. (3) 6 . (4) 8.

Seema starts walking from the point A walks 2 m towards the south. She then takes
the left turn and walks 4 m. She now takes a right turn and walks 2 m. Then takes left
turn and walks 2 m and stopping at a point C. If Seema walks 4 m towards north from
point C, how far she is from point A ?

(1) 4m (2) 2m (3) 6m (4) 8m

9. e fafire TFame VISHWANATHAN' 2 ‘NAAWTHHSANIV’ a7 fafeet 1R, = Gehamed

‘RAJSHEKHARAN’ &8 fefeet sma 2

(1) NAEHARSJHKAR (2) RAHEARJSHKAN

(3) NEAAHRSJHKAR (4) AREHRASJKHNA

In a certain code, ‘VISHWANATHAN’ is written as ‘NAAWTHHSANIV’. How is
‘RAJSHEKHARAN'’ written in that code ?

(1) NAEHARSJHKAR (2) RAHEARJSHKAN
(3) NEAAHRSJHKAR (4) AREHRASJKHNA
10. SR
i. P=2Q
i. Q>R
T R e/ fum ffaan ghR s /gl s
ferem
. R>P-Q II. 2Q=P-R
. PxR=2Q V. PxQ>R
(1) e faam | gh 3R ) faam 1= |1 R 3R
(3) e faum 1l g 3R (4) wd gehrE ImRA
If
i. P=2Q
i. Q>R
which of the following statement/statements is/are definitely wrong ?
Statements :
. R>P-Q . 2Q=P-R
. PxR=2Q IV. PxQ>R
(1) Only statement | is wrong (2) Statements | and Il are wrong
(3) Only statement lll is wrong (4) All are wrong
oo HMTETS AT / SPACE FOR ROUGH WORK P.T.O.
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2023@%%@%@%?@’WW@WWWM%%?
(1) gfds wem (2) waofa afes (3) e firma (4) SHTEA TETe

Who has been appointed as the Director General of the ‘Geological Survey of India’
in 2023 ?

(1) Durvik Patel (2) Manjeet Malik (3) Ravi Mittal (4) Janardan Prasad
12, gl Jermedt T fomn TS So e STER e, T wreitei Sivre T

v Ty fiere ?

(1) afiresrg (2) T

(3) fewraa wew (4) 3T HeH

Union Jal Shakti Minister announced the 3" National Water Award. Which of the
following States got first prize ?

(1) Tamil Nadu (2) Gujarat
(3) Himachal Pradesh ‘ (4) Uttar Pradesh
13. @refier fram fommra =,

. T Qeaforeh dROTER Aetirs T 2023 — 24 UHA FHEH I S e
feraneat & -raafies gfieor et smom,

9. 2 wieer gerean autarga faereatan fesr smom,

%. WMSBad Uk Fopdd i sHavd A,

3. I SRIEOTEIES) qreshd Wi feud U, et vyt srasiie R s
AN TR AT AT 3R,

Rt v faam /faum stet @ /q 7
(1) e 37 371 &% (2) wad 3o T
(3) wH S (4) s{iedeh! AT
Consider the following statements.
a. According to the new education policy students will be given pre-vocational
training in government aided schools from the Academic Session 2023 — 24.
b. This training will be given to the students from class 6t" onwards.
c. A ‘skill-corner’ will be made in the school itself.
d. The syllabus for this training has been prepared with the help of Bhopal,
Pt. Sundarlal Sharma Vocational Education Institute.

Which of the above statement/statements is/are not correct ?

(1) Onlyaandc (2) Onlybandd
(3) Onlyd (4) None of the above

THeed! HHTETE SN / SPACE FOR ROUGH WORK

A
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14. gﬁﬂ%@r&ﬁaﬁ@aﬁvﬁwzozsn@mwﬁ% ?

(1) i (2) T

(3) e HEEH (4) HitET=R
Which of the following dam of Ukrain is destroyed in 2023 ?
(1) Kaniv (2) Kremen chuk
(3) Nova Kakhovka (4) Kamianske

15. WFETRER 9 AETE oy fme T,

ST dre
3, faoam |t Iefieean dewia frenfiiaed smreehar fafor o
9. 3Ecs I sl nfor SraETeAT SERET BT SeHTETeT SR 01
%, EH AR 1. fesaiomTaes GuTSI=l AHTHehdT seerl

® A &
(M 1omn
@ m

@ nomd
@ 1 1w

Short film competition organised on Human Rights.
Match the pair :

a. Chirbhog I. Tocreate awareness among female students regarding
sexual harassment
b. Enabled Il. Exposing discrimination on the basis of caste and
profession
c. Acham Thavir ll. Changing the mind set of the society towards the
disabled
a b ¢

@ 1w
@m n
@ 1ol
@ 1 1

16. SH 2023 T sRATeN UfFHH AT W3 Tl SR Hivr STearEl derl S

BT ?
(1) WHHE (2) wIH (3) (4) faw=Ta
Which cyclone hit the coastal region of the western part of the India in June 2023 ?
(1) Amphan (2) Phyan (3) Taukte (4) Biparjoy
eI HITETS FART / SPACE FOR ROUGH WORK P.T.O.
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e I ST W 3R ?
(1) Srem (2) TEh
(8) wae (4) e

Highest bridge is being constructed over which river on the Udhampur-Shrinagar-
Baramulla railway line in the Reasi district of Jammu and Kashmir ?

(1) Zelam (2) Ravi

(3) Sutlej (4) Chenab

18. ‘V-CIP' =1 fowr & 3R St st gafea srawained fowa ar 7

(1) =& Ffteer smaEffrrem Mag

(2) fegeian sug Fem sEfRfsry Moy

(3) =ET3H ST HEH HAISRTHHIA NaT

(4) =R Hfiea soaeetic Ndw

What is the expansion of ‘V-CIP’, which was seen in the news related to banking ?
(1) Venture Capital Identification Process

(2) Video Based Customer Identification Process

(38) Voice Based Customer Identification Process

(4) Venture Capital Investment Process

19. S[7 2023 WEA tes TSH WHRA K-FON Tehed & el a1 ewta ‘O’ =1 31ef %1 31 7

(1) SRIA (2) I

(3) 3issidre (4) e

In June 2023 the Kerala State Government launched the K-FON Project. In this context
what does ‘O’ stand for ?

(1) Operation (2) Optic
(3) Object (4) Organic
20. MSRTC =it ufeeit nfgen =T s=vam=r 79 Hiomg feer ?
(1) T arerh (2) 3T HeH
(3) feraet =me (4) 3T 3
Who has received the honour of becoming the first lady driver of MSRTC ?
(1) Priya Solanki (2) Archana Kadam
(3) Shital Chate (4) Archana Atram

THeed! HHEETS! ST / SPACE FOR ROUGH WORK
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21. T 3% +3X = yRo¥], Wx="7?

(1) = (2) -& @) * 4) %
If 34 + 3% = 59049, then x = ?
(1) 6 (2) -6 @ 9 (4) -9

20, w when g o faenefi nfvrarh when g, 3¢ faemefi Shawmerh wen am anfor
?xﬁm%ﬁsﬁaaﬁﬁqﬂméﬂm.mm@mmﬁwqﬁmémiﬁ CIUR RGN
fyereatet dEa GAH SarEe SRe @ HHiq S R Siean AT ?

(1) Ro (2) 2R (3) 2o (4) o¥
In an examination centre, 60 students were to write Mathematics test, 36 students
were to write Biology test and 24 students were to write History test. Find the minimum

number of rooms required if in each room the same number of students are to be
seated and in each room a test for only one subject is to be conducted.

(1) 20 (2 12 (3) 10 (4) 04

23, HIIEE THU &. \soo Ted. WML F. 200, . R0 G . %o =1 Tl e IR B 200
g%, R0 =T A TG § ; R IR, S FereATSIHS THOT 0 Wl AN A W E. 200,
. 30 9%, Y0 AT Yckeh fohelt Frer 3Eq ?
(1) 3, 2,8 (2) ¥, ¢, ¢
(3) 44 %0 4) & R, |
Rutuja has a total of Rs. 700 as currency notes in the denomination of Rs. 100,

Rs. 20 and Rs. 10. The ratio of the number of Rs. 100 and Rs. 10 notes is 1 : 2. If
she has a total 20 number of notes, then how many notes of each Rs. 100, Rs. 20

and Rs. 10 does she have ?
(1) 3,11,6 (2) 4,8,8
(3) 5,510 (4) 6,212

24. M 4 U Uk femema fafat @ we R T s feaea TEA Tehd. SR At S HeE U
feaaIaTe MW HA FEAA (aferean faash stfir anfor ga=n feaeht o), w £ o UM J&IH
fergmaen i fhdt fesm e ¢ JAfEs g0 qr ot gTeATer EeAr 9 gE S .

(1) ¥o (2) 3¢.& (3) 30.R (4) Ro

Amit writes 5 pages a day. Sandhya erases 2 pages a day. How many days they will
take to write a 60 page book, if they work on alternate days (Amit works on first day
and Sandhya on second day) ? Once Amit completes writing 60 pages, Sandhya

stops erasing.
(1) 40 (2) 38.6 (3) 30.2 (4) 20

FHES HIUTATS! WU / SPACE FOR ROUGH WORK P.T.O.
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i R RLRKR

(R R

w RRRR

g |RRRRIRLR

- RRRERR

T RRERRRRR
e o %

K-

200 qA

The chart represents the number of children attending school in the first half of 2023.
Which month represents the greatest percent increase of children attending school
over the previous month ?

sy [RRRIR
rebruary | 9

o [RRIR

v [RRRRRRS
w [RRRRR7

e RRRRRRRR

% = 100 Children

Heedl HHTAS! ST / SPACE FOR ROUGH WORK

A



D18

26. Hrad=al geeI@E TETde SHH (THTA) fafyg v s ferEeht sEeean
arTaErETee 8 R, Hven i smear fE AT d T S Go%

(1) =1, sTot, wed (2) war, ref, s
(3) wmd, g, Wl (4) -maft, T8, "

The pie chart shows the distribution of land (in acres) in a village under the cultivation
of various food crops. The combination of which three crops area under cultivation

contributes 50% of the total area ?

Millet
85°

(1) Maize, Millet, Rai (2) Jowar, Ragi, Millet
(3) Rice, Wheat, Maize (4) Ragi, Wheat, Millet
HESAT HIFES! FART / SPACE FOR ROUGH WORK P.T.O.
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Y9 ShUTS 27 9 28 Hieal.

The bar graph given below shows the number of students of a school for five years.
Solve question number 27 and 28 by observation.

ST : Scale :
X : Segforen X : Academic year
Y,\ Y:1cm =100 fagreff Y :1cm =100 Students
<00 800 +
woo 700 + ;/// -
§00 600 / 7 uaefGis
¥oo 400 : % % / /A .
300 300 / / 7
Ro0 200 + /// =
200 100 + =
0 > X

27.

2018-19 2019-20 2020-21 2021-22 2022-23 -

R0%<L-8%  Ro0%R-30 RoR0=-3%  R03%2-33 R033~-33
Reaforeh o R022-30 Jer Reafvrh & 2032-33 WY Helie GEI Rt T e R oo
E IS .
(1) u% (2) 20% (3) 2% (4) 0%

What is the percent increase or decrease in the number of girls in the academic year
2021 — 22 as compared to the academic year 2019 - 20 ?

(1) 5% 2) 10% (3) 15% (4) 20%
28. arfird af R0%0-32 T 2033-33 A el HEIR Ui Rt 7
(1) 4:8§ (2) ¥:4 (3 3:% 4) =:3

What is the ratio of the number of children in the academic year 2020 — 21 and
2022 -23 7
(1) 5:6 (2) 4:5 (3) 3:4 4 2:3

29.

R&% 37T I Yo foret gravme fordh forex wmoft e weorst Fefte aravmdier 3ifres o
R0% BIsA ?

(1) 2w (2) zo (3) 3o (4) R4

How many liters of water should be added to 50 liters of a 16% acid solution so that

new solution becomes 10% acid ?
(1) 15 (2) 20 (3) 30 (4) 25

THeedl HHEIS FAT / SPACE FOR ROUGH WORK
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30. mawmwﬁﬁ_mﬁwwéﬁ Ry o it ferameaT st R auit
T T Se, e foerean ssren s Tl Jy ¥ 3R, T e wHer fhdt o
el ?

(1) ¢ (2) « (3) & 4) ¥
The average age of a husband and wife at the time of their marriage was 25 years.
A son was born to them exactly 2 years after their marriage and present average age

of all three is 24 yrs. How many years have they been married ?
(1) 8 (2) 5 (3) 6 4) 4

31. mmaﬁm@éam@wmm@mﬁwm.maﬂmwm
et fepdt 2ok B ?

A ==
930- 4 T
2001
{0 1
§0 1 //

7 /

0 R0 . R0

(1) 3 (2) &o.4 (3) ¥o (4) ¥u.¥4

The expenditure and profit of the company in two years is shown in following diagram.
What is the percentage of total profit with expenditure in two years ?

A [ ] Expenditure

120 - v/ Profit
100 -

80 1
60 1

40 1
20/ 7
7

v

0
2020 Vodr 2021

(1) 25 (2) 60.5 (8) 40 (4) 45.45
FH=d1 FETETS! AT / SPACE FOR ROUGH WORK P.T.O.
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32. Jeml VX+83+VX-3 _3, WX =2
X+ -X-3 ¢
2 4
1) 2 2) =
(1) 5 (2) :
23 28
_ 4 —
(3) 3 (4) 5
f YXE94VX-2 3 yony g
VX+9-vX-2 1
17 1
M 5 @ 3
13 16
(3) 3 @ 3
33. @rcfledeht HIvd Fafa Sek MR 7
(1) 37cH H9 (2) swE
(3) wisfigia (4) T foRor
Which of the following is the most penetrating ?
(1) An alpha particle (2) An electron
(3) A positron (4) A gamma ray
34. Wieflertehl o T § It ane 3¢ AR 7
(1) SehTT & (2) &t T
(3) g am (4) qfemamf qm
Which of the following is an example of a mechanical wave ?
(1) Light wave (2) Sound wave
(3) Radio wave (4) Television wave
35. IT-ARhA TR & Fehrer I A1 UehehIq Wil SeTd. T WHE 99 =

(1) 14x10""m (2) 9.46 x 10'°m
(3) 37.84x 10" m (4) 150 x 108 km
The inter-stellar distances are measured in light years. 1 light year =
(1) 1.4x10""m (2) 9.46x10'°m
(8) 37.84x 10" m (4) 150 x 108 km

THeedl HHTHTS! AR / SPACE FOR ROUGH WORK

&



"

47

36. SaTe T 9 AT TgeaTeA1 S Al

Match the algae group and their pigments.

Ve e
3., FARBIEE
w. fwanerEH
%, “BremEE!
T, HEEhEH
AN qd & B
(1y i i iv i
2 i i Wi v
(8) i v Qi
(4) iv i i
Algae group
a. Chlorophyceae
b. Phaeophyceae
c. Rhodophyceae
d. Crysophyceae
a b ¢ d
(1 i i v i
(2 i i i v
(8) i v i i
(4) v i i

Pigments
Chlorophyll a and b
Phycoerythrin

. Fucoxanthin

Phycocrysin

D18

37. @refendl SR fom/fHum st 3R /3Rd ?

3. @R - TS aRheey HE TR,
q. T - TS I T 3.
%, JaEE - I Fey 7 IR,
3. o - 3 ESewiey 7 AR,
(1) faum g st o

(3) farem a1 anfor & s 3R

(2) faum 31 3nfor & SR HARd
(4) Tqum = 3nfor g SO 3R

Which of the following statement (s) is/are true ?
a. Zamia belongs to order Cycadales.
b. Pinus belongs to order Coniferales.
c. Taxus belongs to order Gnetales.

d. Thuja belongs to order Pteridospermales.

(1) Statement d is correct
(3) Statements a and b are correct

(2) Statements a and c are correct
(4) Statements c and d are correct

FHoedl HHES! ST / SPACE FOR ROUGH WORK

PT:O.
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38.. wﬁaﬁm%mw@wmmﬁg@ﬁm% ?

(1) AEESH (2) hfcerm (3) @R (4) o
Deficiency of which element causes inter veinal chlorosis in leaves of plant ?
(1) Nitrogen (2) Calcium (3) Boron (4) Iron

39. wifean st e, 2004 = gE SFEEE WS Foe TERT IoorE TE 2
(1) TS Fem & (2) EHE T diefig
(3) W & ferbr Hew (4) o e weiee g

Which of the following organisation is not mentioned in the Second Schedule of the
Right to Information Act, 2005 ?

(1) National Security Guards (2) Government Railway Police

(3) Border Road Development Board  (4) Aviation Research Centre

40. nﬁmaﬁwmﬁm?ooq%ﬁﬁmm,mwmﬁw
Afeiarey gfevaa 39 e sreft wfedt gerss v SR 3 7

(1) e| R (2) o™ 2o (8) <hemH 2% (4) heH ¢

Which Section of the Right to Information Act 2005, empowers the officer to segregate
the information which can be furnished from such information which is exempted from
disclosure ?

(1) Section 9 (2) Section 10 (3) Section 11 (4) Section 8

41. HENTSE SAlRdaT g SAfufEm, 0%y = wem %o (R) wefiel RGETER 7 wuw 3rdfia
MMWMWWWWWWWW
%%WWMWWWWH@WW
ITIF T Tt sferehr=mer fopm fercht wmectt wrg wrobet 2
(1) Toram oo w93
(2) foFaM U &SR TR
(3) TrH™ EF TR T T9d
(4) e w &9 TR

As per the Provisions of Section 10(2) of the Maharashtra Right to Public Services Act,
2015, what is the minimum penalty that the Chief Commissioner or the Commissioner
may impose on the first Appellate Authority if first Appellate Authority repeatedly failed
to decide the appeal without any sufficient or reasonable cause or unduly tried to
protect the erring designated officer ?

(1) Not less than five hundred rupees

(2) Not less than five thousand rupees

(8) Not less than two thousand five hundred rupees

(4) Not less than one thousand rupees

FHeedl HMTETS! SR / SPACE FOR ROUGH WORK
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42. SRR SUk § G HUAETE JEieh! Hivdl U AT J1d A8l ?

. HIGIh hg
CO L T
F. O
3. 3HR

(1) e 3 (2) s (3) wH W (4) ®afs

Which of the following factor is not used to describe and read image ?
A. Focus of tilt

D18

B. Tone
C. Shadow
D. Shape
(1) Only A (2) AandB (3) OnlyB (4) CandD
43. wrefiet faummEn fo=m .
3. ufra Gdes w@a: ol aaEd Hae Hl.
3. fifSra dde gataEd o= SHeiET AR FEA Fog Hl.
%. TiHT HaeH feaareten T g Hl.
T, fifSra d3cs weaa feaan dae &l
SRt o e/ faam st 31g /a7
(1) e 3A (2) e A IO
(3) A, & 7M1 (4) O T
Consider the following statements.
a. An active sensor senses by using its own energy.
b. A passive sensor uses energy from the sun to sense.
c. An active sensor sensing during the day time as at the night time.
d. A passive sensor only sensing during the day time.
Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyaandb
(3) a,bandc (4) All of the above
44, EFAH-3 = THY TEGEE foRdl B 7
(1) 2800 f&%.30. (2) 3100 f%.40.
(3) 3900 f&%.34. (4) 4110 .4,
What was the total mass of Chandrayaan-3 ?
(1) 2800 Kg (2) 3100 Kg
(3) 3900 Kg (4) 4110Kg

THesal HIETETS! AN / SPACE FOR ROUGH WORK

P.T.O.
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45. THRITEATE HHATT FaT8 SRATRETET ey STHR Giefieriteh! HIv@r 32 ?
(1) 23 x 233 (2) 22 x 22 g
(3) 5.9 x 5.9 art (4) 23.5 x 23.5 @}
Which of the following is the ideal size for aerial photography in a cartographic camera ?
(1) 283x23cm (2) 22x22cm
(3) 59%x59cm (4) 283.5x23.5cm
46. TN SEeRAIRT A1 URFINE) B Foedl e uH fafdme qrnmmE
GIEEGIGH
(1) weRrm (2) wfcwrm (3) wrEHE (4) TEW
In the process of ‘vulcanization of rubber’, is heated with crude rubber at
particular temperature.
(1) Potassium (2) Calcium (3) Phosphorus (4) Sulphur
47. HTTGre sftfET HUAETE I WA 9 9 7
(1) RIEH ) 3wH
(3) TEENH WHTFaES (4) ITeHIEA
Which chemical is used for bleaching of the paper ?
(1) Nitrogen (2) Argon
(3) Hydrogen peroxide (4) Alcohol
48. TG B HIVIAT SR M HHT W quravisiar s 7
(1) PwpHr= </ (2) s
(3) fommeer (4) feaam
Blue vitriol is used in the blood test for diagnosis of which disease ?
(1) Pneumonia (2) Anemia
(8) Typhoid (4) Malaria
49, ﬁmmmmmwmmmmmmm

AT ITHATAT St 08¢ A gag AN el & =41 e TeEie
wﬂmées:rm-ﬂ?ﬁzmﬁ?hﬁﬁﬁm

(1) 3|m (2) 3-shich (3) 3-8al (4) wW-Har
Ministry of Electronics and IT under the ambit of Digital India Program has launched
Mobile Governance Programme was named as which received

Best in m-government service award at 6" World Government Summit at Dubai in
Feb. 2018.
(1) UMANG (2) E-Kranti (3) E-Seva (4) M-Seva

ool HIHTHIS! AT / SPACE FOR ROUGH WORK
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50.
(1) ‘C’ M ‘C++ (&t anfdr ot @ @) (2) BASIC (i)
(3) FORTRAN (%igi) (4) O T AT
JAVA a computer programming language is highly influenced by
language.
(1) ‘C’and ‘C++ (2) BASIC
(3) FORTRAN (4) None of the above
51. T cEeaTeTESS FEIUATER STeoT= §aT 7T TR Few <dr.
(1) foada woE (2) FATHE WA
(3) Wi T (4) HHTE TOH
techniques refer to service and application that run through virtualized
resource.
(1) Distributing computing (2) Cloud computing
(3) Soft computing (4) Parallel computing
52. U@l sgadeT fhaT st T fhar Gede 96 HUAETE! e AT U, FTel
I TR,
(1) -0 sifeaT (2) wifim
(3) TSR wIfRT (4) Toweft

Use of internet to harass an individual or group of individuals or an organization, is
called as

(1) E-mail bombing (2) Spamming
(3) Cyber stalking (4) Phishing
53. angiaret S s fafine et i@ sea 2

. Tl A BE 4. Thoed fafem smeea 3R

%. @iea MWR g, fauef wmficdt sl

(1) ad A (2 BFATT

(3) ed 3H, § JTOT H (4 A,9,%9E

What are the peculiar characters of phylum Arthropoda ?
a. Largest phylum b. Skeleton is covered with chitin
c. Segmented body d. Bilaterally symmetry body

(1) Onlya (2) Onlyaandb

(3) Onlya,bandc (4) a,b,candd

FHeedl SHIHTETS! TR / SPACE FOR ROUGH WORK P.T.O.
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54, g FEET HOR HA

. quafeEm 9. dreiteed
%, faex g Wgife
(1) ®ad 31 3for « (2) wF H
(3) waa 37 3mfor ® (4) wad & 3T ©
Locomotory organ in earthworm is
a. Parapodium b. Proglottids
c. Setae d. Pseudopodia
(1) Onlyaandb (2) Onlyc
(3) Onlyaandd (4) Onlybandd
55. Y3t STOAT=T GET Hald HIST T Hivrn ?
(1) Inyiarer (2) wiET (3) wIawH (4) uferAreHier
Which is the second largest phylum of invertebrate ?
(1) Arthropoda (2) Porifera (3) Mollusca (4) Echinodermata

56. HIEAT a7 HitdaTad I He .

H. 8, 1946 Tl TReftT T e wfaam wiiard) aifeey TR swoaren seamt
a9 |t e,

9. SaTEETe J8E I1 gidie areas 2.

F. . T, gft A1 A ans g

(1) %o T, & (2) wFd, ® (3) %I 3, F (4) alereht ad

Select the correct statements about Experts Committee of the Congress.

A.  On 8 July 1946, the Indian National Congress appointed an Experts Committee
for the purpose of preparing material for the Constituent Assembly.
Jawaharlal Nehru was a Chairman of that Committee.

B.
C. K. M. Munshi was convener of that Committee.
(1) OnlyA,B (2) OnilyB,C (3) OnlyA,C (4) All of the above

57. RN TSTEe=A1 HIAT ATDGHAR 0= e awiadt far su-awmedt Fi1 gerees
BV 30 fe=amefia stEam o reaede ue wehd A1dd ?
(1) 3g=se 181 (2) II=BT 180  (3) II=BE 178  (4) IT=8g 179
According to which Article of the Indian Constitution, the Speaker or the Deputy
Speaker of Legislative Assembly cannot preside while a resolution of his removal is

under consideration ?
(1) Article 181 (2) Article 180 (8) Article 178 (4) Article 179

e hIWIETS! ST / SPACE FOR ROUGH WORK

A
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58. WiYE GRS 99 HYH Sl
5. Ghrg e afeeh o 9 fedie, 1946 Ush IS vama STl 2.
§. = otz waEre ar wiyum wie seaaud fas woar .
. @.m.wav@.a.mw@%mmmmmm

FHATEAT.
(1) & 3, (2) %A 9, H
(3) wad A, ® (4) wleteh od

Select the correct statements about Constituent Assembly.
A. The Constituent Assembly held its first meeting on 9 December, 1946.
B. Dr. Rajendra Prasad was elected as the President of Constituent Assembly.
C. H. C.Mukherjee and V. T. Krishnamachari were elected as the Vice-Presidents
of the Constituent Assembly.
(1) OnlyA,B (2) OnlyB,C
(3) OnlyA,C (4) All of the above

59, U IV FTTIGHER Tsadrerr= gl shard ?
(1) 39=8¢ 143 (2) IR qwy  (3) FTEE 44 (4) ITTT RuL
Under which Article does the President appoint the Governor ?
(1) Article 153 (2) Article 154 (3) Article 155 (4) Article 157

60. TS SRS qeiHed @elehish! HIvT Ao HIEN AT el e 7
3. AR, T st g SusitfaTdl R Fe frevare wue SR TR,
¥, ©h anfn gey QuiEd GHH HEEE GHH 6 .
. W,@ﬁaﬁwﬁmﬁwmﬁmﬁmﬁmﬁmww&i
T a7 3N TS AMREAT S T e wmed A T VAU S HOA

nT urg, .
(1) a&d A (2 A, (3) 9, % 4) #,9,%
Which of the following principles are included in the Directive Principles of the State
Policy ?
A. The citizens, men and women equally have the right to an adequate means of
livelihood.

B. There is equal pay for equal work for both men and women.

C. The health and strength of workers, men and women and the tender age of
children are not abused and that citizens are not forced by economic necessity
to enter avocations unsuited to their age or strength.

(1) Only A (2) AC (3) B,C 4) AB,C

FHeedl HHATE! AR / SPACE FOR ROUGH WORK P.T.O.
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(1) o @ ¥yo (2) wo & Yoo (3) &0 A wyo (4) &o d Yoo
What is the minimum and maximum permitted strength of the Legislative Assembly

of any State ?
(1) 70to 450 (2) 70 to 500 (3) 60 to 450 (4) 60 to 500

62.

WA HiGuHTdier @refietsht wivm sese § aifafie stemr fhar sresit st fear
W 3 =T STt AR Arereq dafa amg 7

3. I 265

9. 31e8q 300-T

%. Iweg 301

(1) wad A, ¥ (2) e 9, ® (3) wad 3, ® (4) wtedh gd
Which of the following Articles of Constitution of India are related to constitutional
rights or legal rights or rights outside Part Il ?

A. Article 265

B. Article 300-A

C. Article 301
(1) OnlyA,B (2) OnlyB,C (3) OnlyA,C (4) All of the above

63.

et 3R ?
H. HEATE

9. TR
. HALH

T, arferg

(1) 31,8, % (2) wFIE, F,
(3) % A, 9,3 (4) sl adf

The Governor has responsibility to establish separate Development Boards.

Which of the following States are related with it ?
A. Mabharashtra

B. Guijarat

C. Karnataka

D. Tamil Nadu

(1) OnlyA,B,C (20 OnlyB,C,D
(3) OnlyA,B,D (4) All of the above

ool HIHTHEIS! AT / SPACE FOR ROUGH WORK
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64.

Sresn o (9 Ugde TEE).
‘o (feramam)

%, ®. =@

Tt S

CIGEERGE]

B, U e

(1) 3 —ii, T —iii, F—iv, S —i
@) 3 —iii, ¥ — iv, H— i, S — i
@) 31— iv, T —iii, F—ii, S —i
(4) 3 —iv, T —iil, H—i, T — i

$oa g

25

‘T (HUA)
3cad Ao

Match the pairs (Nature of Federal System).

‘A’ (Thinker)
A. K.C.Wheare
B. Morris Jones
C. Paul Appleby
D. Granville Austin
(1) A=-ii,B—ii,C—=iv,D—i
(2) A-iii,B—iv,C—i,D—ii
(3) A-iv,B—iii, C—ii,D—i
(4) A-iv,B—iii, C—i, D—ii

i.
ii.
iii.
iv.

‘B’ (Statement)
Extremely Federal
Co-operative Federalism
Bargaining Federalism
Quasi Federal

D18

65.

9. ToF wefueet afes Serserl

%, TSI THHEH
3. IU-TEIWA UG
(1) 3 s

(2) = amfor &

TR TsrEeAd @iefierieh! Shivean Msdi=n Iooi@ a7

(38) wanfrg (4)

Which of the following are not mentioned in the Constitution of India ?

A. Council of Ministers headed by a Chief Minister
B. Collective responsibility of the State Council of Ministers

C. Resignation of State Ministers

D. Office of the Deputy Chief Minister
Select the correct answer from the options given below :

(1) AandB

(2) BandC

(3) CandD

3 3T

(4) AandC

Heedl HIHEE! SN / SPACE FOR ROUGH WORK

P.T.O.
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66. TATYAT INTAT el HATH WAl T2 T HIZvf .

H. fewraet vew g, AT
&, afean . 3TUTEA Yew

(1) #,9,%,3 2 *, 9 3,5 (3 ;3 F 4 & 9%
Arrange the following States in ascending order of their year of establishment.

A. Himachal Pradesh B. Nagaland

C. Odisha D. Arunachal Pradesh

(1) ABC,D (2) C,B,AD (3) B,AD,C (4 D,AB,C
67. WrcieTdeh! HIvE TSI Fi=ar Tsard faum gfiwg sward Feft 3R 7

. ufvew s

9. ga™

%, AT

(1) wea A, @ (2) ®HdE, F (3) W 3, & (4) et od

Which of the following States have abolished the Legislative Council in their State ?
A. West Bengal

B. Punjab
C. Tamil Nadu
(1) Only A, B (2) OnlyB,C (8) OnlyA C (4) All of the above

68. IeMlhETEd @iefleriehl A HYY 3NSEl.
H. wEEl R TR (1960) HEY Heted RITERT 318 7d Higet 6, L9t &

RIEPIEIEIR L

¥, HIEHE TR ThT (1973) HEl Hated IR 3Lt € wieamrE
I e AR,

%, T IE. Hl. ATE 3EAT THT (1995) UL Gales ==red IR € afraHmE
SATHST WIT AT FEeo TR,

(1) e 31, & (2) wHd 9, &+ (8) W 31, F (4) e g9

Select the correct statements from the following related to Preamble.
A. In the Berubari Union Case (1960), the Supreme Court opined that Preamble is

a part of the Constitution.
B. Inthe Kesavananda Bharati Case (1973), the Supreme Court held that Preamble

is the part of the Constitution.
C. Inthe LIC of India Case (1995), the Supreme Court held that Preamble is an

integral part of the Constitution.
(1) Only A, B (2) OnlyB,C (3) OnlyA,C (4) All of the above

THeedl SIS FHT / SPACE FOR ROUGH WORK
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69. TaTed TS ded —IETeETEd A HU /A JSE.
3. WA TSI 39 AEEEreal AR qeqe Serasiand! geed =
deed =manefter TevE FgeRi & wehdrd.
§. Tated AT S3ehiell IURRA IFHAHT dgd =TT Tated =ATATer=
T e 8, Frfrepr 3nTfor feraTferepr=n 3w Har 3.
(1) ad A (2) wHd ®
(3) 319« gra (4) Sheah arE
Select the correct statement/s about Ad hoc Judge of Supreme Court.
A. President of India can appoint a Judge of a High Court as an Ad hoc Judge of
Supreme Court for a temporary period.
B. While attending the sitting of a Supreme Court, Ad hoc Judge enjoys all the
jurisdiction, powers and privileges of a Judge of a Supreme Court.
(1) Only A (2) OnlyB
(3) Both Aand B (4) None of the above

70. WA TSTEE HIA IFTTRE TSIl TTesih JaHE =AAuIfcTehel] SN HSBIRH
AT HOAEE! Jraet ITavar few <a 2
(1) 303 u¢ (2) 3TT=DT ¥Y¥ (3) 3T=VT uR (4) VT Yo
Which Article of the Indian Constitution directs the State to take steps to separate the

judiciary from the executive in the public services of the State ?
(1) Article 58 (2) Article 44 (3) Article 52 (4) Article 50

71. @refiel foammee shifasnes st

a. 0 fcaediel Tet vaTE YHE HEw.

b. Hfrere st frerr Svamand smfeher et

Cc. TRl qoTd BIeft uara 3.

d. ITER erd T8,
(1) Trarm &l e (2) ferso e e
(3) B Higl §TIe (4) A AEAY He
Identify the revolutionary from the following description.

a. Chief leader of Gadar Party in Pune district.

b. Went to America to study mechanical engineering.

c. He was hanged to death in Lahore jail.

d. Participated in the Lahore Conspiracy.

(1) Shivram Hari Rajguru (2) Vishnu Ganesh Pingale
(3) Senapati Pandurang Bapat (4) Anant Laxman Kanhere
el HATATS! AN / SPACE FOR ROUGH WORK P.T.O.



28

72. mmm&mmm

oo o

(1)
()
(3)

(4)

. Tures & eemE
fersupgan sEET
EREEIRECE ]
fersopemret ufea
a b c d
v I 1

11 v I !
Il I v 1

I I I v

Il
It
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AT T AEH A

Match the following pairs regarding works of social reformers.
a. Gopal Hari Deshmukh

b. Vishnubuwa Bramhachari

c. Behramji Malbari

d. Vishnu Shastri Pandit

(1)
(2)
(3)
(4)

a b c d
\ I Il Il
[ IV | Il
I I v 1
]l I ] v

V.

Wrote the book ‘Bhavartha Sindhu’
Wrote the book ‘Laxmi-Dnyan’
Establishment of ‘Re-marriage
Encouragement Mandali Sabha’
Establishment of the ‘Seva-Sadan’
Institute

73.

R AR 2R3 U SfAqMT Toad HaeR |9 U ‘ST famer shiorean fsfewr dawemm
SRR el ?

(1) wA¥e Jfee
(2) sonfia fesmmett
(3) fae afda
(4) TH vHsHeS

On 17 August 1932, which British Prime Minister announced the ‘Communal Award’

to give separate electorates to Dalit ?

(1) Clement Attlee
(2) Benjamin Disraeli
(3) Winston Churchill

(4)

Ramsay MacDonald

el SHIFTETS I / SPACE FOR ROUGH WORK
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a. OIS TS . faorft 7
b. dfitver = . =t
c. fuaua fig . sefeYy
d. gFHea ue IV. SEY
a b c d
(1) N | v 1l
(2) I v I
(3 Iv 1 I Il
4) 1 v | 1]
Match the following pairs regarding the newspapers.
a. Krishnaji Ranade l. Vijayi Maratha
b. Vireshwar Chhatre Il. Deen Mitra
c. Shripatrao Shinde lll. Dnyan Sindhu
d. Mukundrao Patil IV. Dnyanprakash
a b c d
(1) n | v 1]
(2 I \Y Il
(3) Iv 1 | Il
4) nu v I i
75. ‘Tl TS Wie 31 fiesd A g1 i@ v JET gEeH fordten 7
(1) mres gl @ (2) TIUTES MO TR
(3) HETeHT A Fd (4) e TR few
Which social reformer wrote this Article ‘There is not enough food in the English
Kingdom’ ?
(1) Gopal Hari Deshmukh (2) Gopal Ganesh Agarkar
(3) Mahatma Jotirao Phule (4) Bal Gangadhar Tilak
76. 30 J& Ry U TATo greiean “sfgspa feasmriioft wen HrEl deew dshel wrefiersh
I B ?
(1) Tram sER (2) THed e
(3) Teramm Rt (4) Trem FHEs

Whom of the following was the Secretary, Executive Board of ‘Bahishkrut Hitkarini
Sabha’ established on 20 July 1924 ?

(1) Kisan Bansode (2) Dnyandev Gholap
(3) Sitaram Shivatarkar (4) Shivaram Kamble
e HIWETSE SR / SPACE FOR ROUGH WORK P.T.O.
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77. ‘Tevwe Famw favm’ = getfi @refiadeh! s faam stew 3ma ?

. ITEgEAET b= e 20

9. HEse gaie e 20

. ICYITAEE! TS, I, GaT@H I Fafeng €U )
T, FCPATATHIS! TShIT HEAT TG L0l

(1) 31 301 & % (2) & 37T % B
(3) 3, & 3T & Bead (4) 3, = 301 T Ferd

Which of the following statements related to ‘Depressed Classes Mission’ is true ?
a. Providing job to untouchables
b. Teaching public religion
c. Establishment of schools, industries, hospitals and boardings for untouchables
d. Establishment of political organisation for untouchables

(1) aandb only (2) bandconly
(3) a,bandconly (4) a,canddonly
78. et g duet hIvie R I IeeiE ‘g Aiee S WA 31T hell BT 7
(1) =greAT e (2) < feas
(3) =y @, M. TS (4) guEg "

Which Indian leader was referred to by Governor Richard Tempel as ‘The Most
Dangerous Men’ ?

(1) Mahatma Gandhi (2) Lokmanya Tilak
(3) Justice M. G. Ranade (4) Subhash Chandra Bose
79. Yeterdeh! gehieht St e
a. W HHE g - WY A SOIWERT HETE ST
b. Ty, ¥, X - VRN GHWM I UAMN @A
c. RstER i - Iifere wicds= yeH
d. TEHd 3 HieaHr=aEd] Ead T 919 U™’ 318 gefauamd a1a.
(1) (a)ahgﬁgaaaﬁax% (2) (b) 3T (c) it gehr=ht s
(3) (b) ImfoT (d) St FhIs 3R (4) (c) 3mfor (d) €t gehreht 3R
Find out the wrong pair from the following.
a. Sir Sayyed Hussain - Foundation of the United Indian Patriotic
Association
b. W.W. Hunter - Wrote a book ‘Bhartiya Musalman’
c. Theodore Morison - Principal of Aligarh College
d. Rahmat Ali - The name ‘Pakistan’ was suggested for
separate nation for Muslims
(1) (a) pairis wrong (2) (b) and (c) pairs are wrong
(3) (b) and (d) pairs are wrong (4) (c) and (d) pairs are wrong

FHoedl HIHTES! AR / SPACE FOR ROUGH WORK
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A, TR 1. fomer we
9. guish 2. . SeTHRd AESH
%. T 3. YT M. AT
T, WERISg gH 4. YT HESH
B & S
(1 2 1 4 3
2 3 2 1 4
3) 4 3 2 1
4) 4 2 3 1

Match the pairs :

A. Prabhakar 1. Vinoba Bhave
B. Sudharak 2. Dr. Babasaheb Ambedkar
C. Janta 3. Gopal G. Agarkar
D. Maharashtra Dharma 4. Bhau Mahajan
A B C D
(1) 2 1 4 3
(2) 3 2 1 4
(3) 4 3 2 1
4) 4 2 3 1

D18

81. it Swesrean gfeed wardier Sfarery i Tua =TGN HuM .
(1) fafd, Teed, gataq, aRRe e
(2) eredh, frafidt, getew, AFRE @™
(3) WHRE 3@, Aered!, R, ge@a
(4) Hewem, Trafidt, Seredh, o= smEmE

Arrange the biosphere reserve sites in India in ascending order according to

geographical area.

(1) Nilgiri, Nanda Devi, Sunderban, Gulf of Mannar
(2) Nanda Devi, Nilgiri, Sunderban, Gulf of Mannar
(8) Gulf of Mannar, Nanda Devi, Nilgiri, Sunderban
(4) Sunderban, Nilgiri, Nanda Devi, Gulf of Mannar

THeedl HIMTETS! WA / SPACE FOR ROUGH WORK

P.T.O.
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82. WrefieTdehl shIvrdl A&t /e HERTSET=A Hihvr Bt YL arad ATel ?

(2) Hd & S 3R
(4) W o I T FUS 3=

Which of the following river/rivers does not flow through the Konkan plain of

Maharashtra ?

A. Vaitarna
B. Mahi

C. Ulhas

D. Amba

(1)
(3)

Only A is correct
Only A and B are correct

(2) Only B is correct
(4) Only C and D are correct

83. MY TS el
e
I .
. G i
%, TEferet i,
T, 3Tl iv.
(1) A -i,9-ii, s -iii, g - iv
(3) F—ii,q - i, % - iv, T - iii
Match the correct pairs.
Districts
A. Thane i.
B. Sangli ii.
C. Gadchiroli iii.
D. Akola iv.
(1) A-i,B—ii,C—iii, D-iv

A—ii,B-i,C—iv, D —iii

AHTST
q{TeAT

(2)

(4) F-i,9 - iv, ® - ii, T - i

- i, g - ii, ® -0, T - iv

Sanctuaries

Sagareshwar

Tungareshwar

Narnala

Chaparala
(2) A-iii,B—ii,C-i,D-iv
(4) A-i,B—iv,C—ii, D —iii

wHeedl ShIHETS! ST / SPACE FOR ROUGH WORK
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(1) @fweEg SR (2) WeTd S

(3) HIEHTST SR (4) WSV S

A branch of the Sahyadri Mountain range leads to Solapur district which is known as
(1) Harischandra Dongar (2) Mahadev Dongar

(3) Satmala Dongar (4) Baleshwar Dongar

85. T IV HTch! TGUH IS T Hldl ?

3. HEA SHATFEES

. e

%, Hlad OHIEEES

2. GeHl SESNHRE

(1) Fa A (2) ®ad

(3) 31 Imfvr & (4) ®F ®
Which is the dangerous pollutant of air that destroys Ozone ?
A. Carbon dioxide

B. Chlorofluorocarbon

C. Carbon monoxide

D. Sulphur dioxide

(1) Only A (2) Only B
(3) AandC (4) OnlyC

86.

1972 =1 SISt TR FEE G A T HOAT A G Greferteh Hiv TSI
TR el ?

(1) (2) W

(3) SE-HIHR (4) =ed He@

The Wildlife Protection Act of 1972 was implemented throughout the country but which
of the following States did not accept it ?

(1) Kerala (2) Maharashtra
(8) Jammu-Kashmir (4) Madhya Pradesh
FHeoH HIETES! SIFT / SPACE FOR ROUGH WORK P.T.O.
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A, wd e gt i g

9. ek SIEHEE Sied agey Sl

. fom wmure fmtor o

s, 2FmErE wrfied w5
F{edh! HIvreht forem sisR 3MmRa 7

(1) 3,9, % 3nfr g (2) ¥, % 3T g
(38) 31, ganfrg (4) 3, & T g
‘Sustainable Development Aims —2015’ includes the following areas

a. Eradication of universal poverty in all sector

b. Enriching life on land only

c. Creating gender equality

d. Partnering for a goal

Which of the above sentences are correct ?
(1) a,b,candd (2) b,candd
(83) a,bandd (4) a,candd

D18

88. TEETH YoR FHTee I YHISE Wehi TTaIet 3717, HHYI

3. A1 gl sred Iworan am

9. SErAmEt gfskan

ER: o F

g, HHg |

(1) o afor = (2) Wad o
(3) @ amiorsg (4) e ®

The Deccan Plateau is composed of basalt and granite rock, because

A. High temperature of this region

B. Volcanic process

C. Earthquake region

D. Near the sea

(1) BandC (2) OnlyB
(3) AandD (4) OnlyC

THedl HATATS! AN / SPACE FOR ROUGH WORK
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89. Wiciicidehl hHIUTd & A&l ?

3. "o 9. wieh

%. 30 T Heal

(1) e & s 3R (2) w3 MO & S 3
(3) %ad © SR 3R (4) e % 3N € SR 3R
Which of the following is not an island ?

A. Salsette B. Khanderi

C. Underi D. Salher

(1) Only B is correct (2) Only A and B are correct
(3) Only D is correct (4) Only C and D are correct

90. WA THUT 0 HHi-uffeufaeh foumr Fam Foiat smad. @mht war FHt-uffeufaeh fawm
TENTSZTA JdTd, a0 HENISETATe hIvean RN THIEY ‘3N -Fehiier 9. £ 7el gial ?

3. HIHUTAS TS 9 ST Je=1 |

9. 9gq 9 Teferrel! egsndiar arE ge=n W

%. et Segamn g@ wm

T, Y3, TgEn, Jma e 9 smtedtEn fegsmEn anefl qreen
(1) hed 37 (2) aanfra

(8) 3, & 3T % (4) F, 9 F M

A total 20 Agro-ecological Divisions have been created in India. Out of them, six
Agro-ecological Divisions are located in Maharashtra, so which part of Maharashtra
is included in ‘Agro-eco Region No. 19’ ?

a. Red and laterite soil part of Konkan

b. Red soil part in Chandrapur and Gadchiroli districts

c. East part of Gadchiroli district

d. Dhule, Nandurbar, Jalgaon districts and Amravati district's Dharni Taluka

(1) Only a (2) aandb
(3) a,bandc (4) a,b,candd
el HMTETSI ART / SPACE FOR ROUGH WORK P.T.O.
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91. 3raurser A faeft daefia @refterdshl sive faum/3 s s /q ?
3. "ew g fer fafma e v whed-adsh v 9 T,
9. W Feredd R St ke wquivr ardisft st gea .
%, T T QAT i fashramendt wae S,
T, wguafl SR 9 ¥ IT=1 AT R H0AE Hed .

(1) #,49,3 (2) w¥d § (3) ®a&d & 4) *,8
Which of the following statement/s is/are incorrect about International Monetary
Fund (IMF) ?

a. Establishment and maintenance of currency convertibility with stable exchange
rate of member nations.
b. To help in the elimination or reduction of existing exchange controls.
. To assist in the reconstruction and development of poor nations.
d. To help in the widest extension of multilateral trade and payments.

(1). a,b,d (2) onlyb (3) onlyc (4) cd

92, gl 2022 =T T EATEATHR Wiefietdeh! v TS B Yogd i Jofimed s ?
3. & q. WS
. TSTEAH g, diveTg

(1) Ao (2) 3 anfor (3) & amfor = (4) = 3mfor g

According to LEADS 2022 survey report which of the following States are in Fast
Movers Performance Categories ?

a. Haryana b. Kerala
c. Rajasthan d. Tamil Nadu
(1) aandb (2) aandc (3) bandc (4) candd

93. TSN HRA Sreferewd gT Hawar= Yfireht Sstedrd R
(1) afees Tser fAfifed
(2) U IcEre qHE et
(3) hHt e foare
(4) 0w &4
Small scale industries play a very important role in the Indian economy because
(1) More employment generation
(2) Equal distribution of national income
(3) Fewer industrial disputes
(4) All of the above

FHeedl HHTETS! AR / SPACE FOR ROUGH WORK

A



ﬁ 37 D18

94, IR 275 3iia feeft SO STHEM 0T == ST g Tafeaa et S,
(1) fo= mm 2) it i
(3) eI (4) hg TR
Grants to be made under Article 275 and its quantum thereof is determined by
(1) Finance Commission (2) NITI Ayog
(3) RBI (4) Central Govt.

95. Wrefia faur femma =,
2.9% Bd.
¥, qET e ATl e WRATd A SIS =T 3.6% .
. fom=n deanfies dismean sl Trardia Stsi ST 4.5% 2.

tierieR) v/t ferr /R SRR SR /A 7
(1) Fsmore (2) @ 3
(3) 31 3mfor (4) 3, 3007 %

Consider the following statements.
a. Atthe end of the First Five Year Plan the unemployment rate in India was 2.9%
of the total working population.
b. Unemployment rate in India was 3.6% at the end of Second Five Year Plan.
c. Atthe end of the Third Five Year Plan the unemployment rate in India was 4.5%.

Which of the above statement/s is/are correct ?

(1) aandb (2) bandc
(3) aandc (4) a,bandc

96. SR fEgred S T feamen Y= qaet St wwarE oot e @ ECH
(1) e g HHt

(2) Gedn TRIG T W

(3) U@ e T ATy

(4) ot g H

If the RBI desires to decrease the money supply, then it should
(1) lower the bank rate

(2) purchase securities from open market

(3) increase the Cash Reserve Ratio

(4) lower the repo rate

THeedl hIHTHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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3. dTE FAEuTIh 318 Segl ot U fmior .
9. P smaed gaem i i a9 2021 @ R 2022 7E GuoiedT
15 a8 anfor A Ao Farem dmEd! el St @ 7.2 THieed
9.8 THFRITTT dTeal T8,
Fierdeht sivrd /i faum /3 arg sR/a 7
(1) aes 31 A 3R
(2) ae & I 3T
(3) TIFEl 31 AT § AT ARG
(4) IR HIvaE ATE
Consider the following statements.
a. Growth is inclusive when it creates jobs.
b. The periodic labour force survey shows that the Urban unemployment rate for
people aged 15 years and above increased from 7.2 percent to 9.8 percent during
quarter ending September 2021 to quarter ending September 2022.

Which of the statement/s given above is/are correct ?
(1) Only ais correct

(2) Only b is correct

(3) Both a and b are correct

(4) None of the above

98. fhfered=n s &1 HIETd! Iugw IR 7

(1) HEETEIfshre STedshiel sqe faveiyor
(2) RIS Aeawrela seare faveyo
(3) SUSTHT 31foT wreETeTfsrean Sl see favemo
(4) ST 3T iR 3Teuehiel gea fagersor

The Philips curve is useful for

(1) analysing short-run movements of inflation

(2) analysing long-run movements of inflation

(3) analysing long-run movements of unemployment and inflation
(4) analysing short-run movements of unemployment and inflation

FHeedl HHTETS! ST / SPACE FOR ROUGH WORK

A



ﬁ 39 D18
99. Wreiidl tvh@sn el
q
mﬁaﬁmm D] el ST At
. YREq {2 . 20 1. game R
9. wRad fowmme 27 %, 23 2. Sftrfiada staa
%. YEd o 2F %, %Y 3. 3IEHEAT HHl HOT
T, WINEd I 21 %, QY 4, YUITETEA SitaH
5. eriga fem
(1) I-1,9-2,%-3,5-4 (2) #A-2,9-3,%-5-4
(3) I-5,9-2,%-4,5—1 (4) HA-3,9-1,%-4,8-2
Match the following list. '
A B
Sustainable Development Goals Related items
a. Sustainable Development Goal 10 1. Climate action
b. Sustainable Development Goal 13 2. Life on land
c. Sustainable Development Goal 14 3. Reduce inequalities
d. Sustainable Development Goal 15 4. Life below water
5. Poverty alleviation
(1) a-1,b-2,c-3,d-4 2 a-2,b-3,c-5,d-4
(3) a-5b-2,c-4,d-1 (49 a-3,b-1,c-4,d-2
100. WRdATdIe fore 3T & S7eae A= A S ATl
e s g
3. ufgen fam smm i. . Ha™
¥, gau faa smm i. . = faft
%, fomu fam smam jii. €t dt. <. gemEn
T, e o smam iv. T %, =g
H = 2 2 :
(1) i i i iv
2) i i ii iv
(3) ii i iv i
(4) i i i iv
Match the Finance Commission of India and their Chairman.
Finance Commission Chairman
a. First Finance Commission i. K.Santnam
b. Second Finance Commission ii. K.C. Niyogi
c. Third Finance Commission iii. D.P.V.Rajmannar
d. Fourth Finance Commission iv. A.K.Chanda
a b c d
(1) i i iii iv
(2 i i ii iv
(3) i i iv i
(4) i iii ii iv
THeedl hIHMETS! AN / SPACE FOR ROUGH WORK P.T.O.
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(8) wwgfeasAe fafga seiean fafire Srfie we2 M (16 o) Q. TegfEmRreafaied Sawfishe a1
T HITGIEL Fod HH HodTd o BT HUAT] JLWMH Het 3R, I AHS Tgel o IR IHERTE
A A sheren wlemmed g e Sfaas sareraes Afufem-g2" e dgegEn
FHIETE FHOATT AT ° Sl ekt AT Teh TqTHT HRISTETEAT AT/ Fehall TG Teh BN AT ST
g ama Ea.

(9) HE TEUCIhETE! IR fafed Fhetelt 9o TueaH IHCTRTT & IeYfEehT Tae atat Ter Hamamt

U SATVITH TETT 3713 AT Uil ShelTaret Svargei SHEa R STIedl Iafehat Wit — 1 GHa iR
7 forawan ua w0t sTavEE SR,

9. 3. 201.

1. k. 201.

i SUSLE]
T AT e OIS HIvft Yetd: T et ?
(1) w@Emft gaFe grEadt (2) Sy feremETR
(3) T TR U (4) TaTesEST MEe
& YT A I (3) TS THAEA T 318 3. e A1y S C4(3)”
159, ITqE Wieiersm ! 597 %, 201 THHiet Sw-shaieh ‘() R ades qoian
BRIfehd HE TR JTEYTH R,

®© @ @ ®
FAT UG TG TG FEThdiel Teeh SRS qe STR-ShHTeh B qreTell Sasical

e ITRabhaie @1 @1 TA-HHREERIe Gafta Tge o0 Srifed wE
SREATE]. TThRAT thard el YITEe aiero At ARy a1 vigst 9= anae .

el HHTETS T / SPACE FOR ROUGH WORK



